SOME NEW EQUATIONS CONCERNING THE EULER FUNCTION Sabin TABIRCA

Department of Computer Science, Transilvania University, Brasov, Romania tabirca@deuroconsult.ro

Tatiana TABIRCA

Department of Computer Science - CNC, University of Manchester, England tabircat@cs.man.ac.uk

Abstract This article presents some new equations concerning the Euler function. An equation for the sum $\sum_{d|n} d^a \cdot \varphi^b(d)$ is found by using the multiplicative property. This is applied to find the sums $\sum_{i=1}^n (i,n)^a$ and $\sum_{i=1}^n i \cdot (i,n)^a$.

1.Introduction

The Euler function is considered to be one of the most important function in Elementary Number Theory. This function has been intensely studied and many results have been proposed so far. These results concern applications of the function in Combinatorics, Algebra, Number Theory *etc*. In this condition, we may wonder if there still exists something new about the function to be proposed. This article proves that it may exist some aspects of the function that can be researched. In the following we will study the function in connection to the sums $\sum_{i=1}^{n} (i, n)^m$ and $\sum_{i=1}^{n} i \cdot (i, n)^m$.

A function $f:N\to N$ that satisfies $(n,m)=1\Rightarrow f(m\cdot n)=f(m)\cdot f(n)$ is called multiplicative function. It is known that if $f:N\to N$ is a multiplicative function, then $g:N\to N, g(n)=\sum_{d\mid n}f(n)$ is multiplicative too [1,4]. The most important example of multiplicative function is the Euler function defined by

$$\varphi: N^* \to N, \varphi(n) = \#\{i = \overline{1, n} : (i, n) = 1\}. \tag{1}$$

This is certainly one of the most studied function of Number Theory, many mathematicians have worked on it. Among the equations concerning φ proposed so far, the most simple and interesting is

$$\sum_{d|n} \varphi(d) = n \tag{2}$$

both from combinatorial and Number Theory point of view [1,4]. In the following, we will generalise Equation (2) by considering $\sum_{d|n} d^a \cdot \varphi^b(d)$, which is a connection between the function φ and the divisors of n.

we obtain from (*) the ordinary Fibonacci sequence: 0, 1, 1, 2,...

Therefore, the ordinary Fibonacci sequence can be represented by an A-progression. We shall show that some of the generalizations of this sequence can be represented by an A-progression, too. When a and b are fixed real numbers and f is a function defined by

$$f(1) = b - a$$
, $f(2) = b$, $f(k+2) = f(k+1) + f(k) + a$,

we obtain from (*) the generalized Fibonacci sequence

$$a, b, a + b, a + 2.b, 2.a + 3.b, ...$$

(see e.g. [2]). When a, b and c are fixed real numbers and f is a function defined by

$$f(1) = b - a$$
, $f(2) = c - a$, $f(3) = b + c$,

$$f(k+3) = f(k+2) + f(k+1) + f(k) + 2.a,$$

we obtain from (*) the generalized Fibonacci sequence named Tribonacci sequence (see e.g. [2]):

$$a, b, c, a+b+c, a+2.b+2.c, 2.a+3.b+4.c, ...$$

When a, b, c and d are fixed real numbers, and f and g are functions defined by:

$$f(1) = -a + b, \ f(2) = -a + c + d,$$

$$f(k+2) = g(k+1) + g(k) - a + 2 \cdot c \ (k \ge 1)$$

$$g(1) = -c + d, \ g(2) = a + b - c,$$

$$g(k+2) = f(k+1) + f(k) + 2 \cdot a - c \ (k \ge 1)$$

we obtain from (*) the generalization of the Fibonacci sequence from [3]. When for the same a, b, c and d

$$f(1) = -a + b, \ f(2) = -a + b + c,$$

$$f(k+2) = f(k+1) + g(k) + c \ (k \ge 1)$$

$$g(1) = -c + d, \ g(2) = a - c + d,$$

$$g(k+2) = g(k+1) + f(k) + a \ (k \ge 1)$$

we obtain from (*) the generalization of the Fibonacci sequence from [4-6].

NNTDM 6 (2000) 2, 61-63

CONNECTIONS IN MATHEMATICS: FIBONACCI SEQUENCE VIA ARITHMETIC PROGRESSION

Krassimir T. Atanassov

CLBME - Bulg. Academy of Sci., P.O.Box 12, Sofia-1113, /ulgaria, e-mail: krat@bgcict.acad.bg

The idea for this short remark was generated by the Marchisotto's paper [1]. Thus I borrow the first part of its title and offer to all colleagues to prepare a series of papers under the first part of this title.

Here we shall discuss an approach for an interpretation of the Fibonacci sequence as an arithmetic progression. The reasoning for this is the fact, that there is a relation between the way of generating the Fibonacci sequence and the way of generating the arithmetic progression. On the other hand, obviously, the Fibonacci sequence is not an ordinary arithmetic progression. Thus we can construct a new type of progression which will include both the ordinary arithmetic progression, and the Fibonacci sequences (the classical one and its generalizations).

Let $f: \mathcal{N} \to \mathcal{R}$ be a fixed function, where \mathcal{N} and \mathcal{R} are the sets of the natural and real numbers, respectively, and a be a fixed real number. The sequence

$$a, a + f(1), a + f(2), ..., a + f(k), ...$$
 (*)

we shall call A-progression (from "arithmetic progression").

Obviously, if $a_k = a + f(k)$ is its k-th member, then

$$\sum_{k=0}^{n} a_k = (n+1).a + \sum_{k=1}^{n} f(k).$$

When f(k) = k.d for the fixed real number d we obtain from (*) the ordinary arithmetic progression.

When a = 0 and f is the function defined by:

$$f(1) = 1$$
, $f(2) = 1$, $f(k+2) = f(k+1) + f(k)$ for $k \ge 1$,

for which a simple proof is presented in the following. Let $\{i_1, i_2, ..., i_{\varphi(n)}\}$ be the numbers that are relatively prime to n. Based on $\{i_1, i_2, ..., i_{\varphi(n)}\} = \{n - i_1, n - i_2, ..., n - i_{\varphi(n)}\}$, it follows that

$$2 \cdot \sum_{i=\overline{1,n},(i,n)=1} i = \sum_{i=\overline{1,n},(i,n)=1} i + \sum_{i=\overline{1,n},(i,n)=1} (n-i) = n \cdot \varphi(n).$$

Obviously, this equation does not hold for n = 1.

Proposition 3.3. If $m \neq 0$, then the equation

$$\sum_{i=1}^{n} i \cdot (i, n)^{m} = \frac{n^{m+1}}{2} \cdot f_{-m,1}(n) + \frac{n^{m+1}}{2}$$

holds.

Proof. Let $I_{n,d} = \{i = \overline{1,n} : (i,n) = d\}$ be the set of indices i that satisfies (i,n) = d. Obviously, this set satisfies

$$(\forall d|n) I_{n,d} = d \cdot I_{\frac{n}{d},1}. \tag{9}$$

The sum $\sum_{i=1}^{n} i \cdot (i, n)^m$ is transformed as follows:

$$\sum_{i=1}^{n} i \cdot (i, n)^{m} = \sum_{d|n} d^{m} \cdot \sum_{i \in I_{n,d}} i = \sum_{d|n} d^{m} \cdot d \cdot \sum_{i \in I_{\frac{n}{2},1}} i.$$

Equation (9) gives $\sum_{i \in I_{\frac{n}{d},1}} i = \frac{\frac{n}{d} \cdot \varphi(\frac{n}{d})}{2}$ for each divisor $d \neq n$. Applying this, we find

$$\sum_{i=1}^{n} i \cdot (i, n)^{m} = n^{m+1} + \sum_{n \neq d \mid n} d^{m+1} \cdot \frac{\frac{n}{d} \cdot \varphi\left(\frac{n}{d}\right)}{2} =$$

$$= n^{m+1} + \frac{n^{m+1}}{2} \cdot \sum_{n \neq d \mid n} \left(\frac{n}{d}\right)^{-m} \cdot \varphi\left(\frac{n}{d}\right).$$

Completing the last sum and changing the index sum, this becomes

$$\sum_{i=1}^{n} i \cdot (i, n)^{m} = n^{m+1} - \frac{n^{m+1}}{2} + \frac{n^{m+1}}{2} \cdot \sum_{d|n} d^{-m} \cdot \varphi(d) =$$

$$= \frac{n^{m+1}}{2} + \frac{n^{m+1}}{2} \cdot f_{-m,1}(n).$$

Thus, the proposition holds.

From Theorem 2.2 and Proposition 3.3, we find the following result.

Theorem 3.4. If $n = p_1^{k_1} \cdot p_2^{k_2} \cdot \dots \cdot p_s^{k_s}$ is the prime number decomposition, then the following equation holds

$$\sum_{i=1}^{n} i \cdot (i, n)^{m} = \frac{n^{m+1}}{2} + \frac{n^{m+1}}{2} \cdot \left\{ \prod_{i=1}^{s} \left[1 + k_{i} \cdot \left(1 - \frac{1}{p_{i}} \right) \right], m = 1 \atop \left[1 + \left(1 - \frac{1}{p_{i}} \right) \cdot \frac{p_{i}^{(1+m) \cdot (1-k_{i})} - 1}{p_{i}^{1-m} - 1} \right], m \neq 1 \right\}$$

$$(10)$$

for any number $m \neq 0$.

Equation (10) gives the following particular equations:

•
$$m = 1 \Rightarrow \sum_{i=1}^{n} i \cdot (i, n) = \frac{n^2}{2} + \frac{n^2}{2} \cdot \prod_{i=1}^{s} \left[1 + k_i \cdot \left(1 - \frac{1}{p_i} \right) \right].$$

•
$$m = -1 \Rightarrow \sum_{i=1}^{n} \frac{i}{(i,n)} = \frac{1}{2} + \frac{1}{2} \cdot \prod_{i=1}^{s} \frac{p_i^{2 \cdot k_i + 1} + 1}{p_i + 1}$$
.

•
$$m = 2 \Rightarrow \sum_{i=1}^{n} i \cdot (i, n)^2 = \frac{n^3}{2} + \frac{n^3}{2} \cdot \prod_{i=1}^{s} \left(1 + \frac{1}{p_i} - \frac{1}{p_i^{k_i+1}}\right).$$

Equations (8) and (10) gives the following interesting consequence

$$\sum_{i=1}^{n} i \cdot (i,n)^m = \frac{n^{m+1}}{2} + \frac{n}{2} \cdot \sum_{i=1}^{n} (i,n)^m$$
 (11)

For m=1 this implies $\sum_{i=1}^{n} \frac{i}{(i,n)} = \frac{1}{2} + \frac{1}{2} \cdot \sum_{i=1}^{n} \frac{n}{(i,n)}$ that represents the equation between the Tabirca functions [3,5].

In spite of the fact that the Euler function has been studied for a very long time, this article has proved that it is still possible to find new facts about it. After a detailed and careful investigation, we have found that Equations (5), (8) and (10) have not been probably proposed until now. Therefore, we can consider that they are new equations concerning the Euler function.

References

- [1] Hardy, G. H. and Wright, E. M. An Introduction to Number Theory, Calderon Press, Oxford, 1979.
- [2] Lintes, I., Teoria Indicatorilor, Editura Universul, Bucuresti, 1944.
- [3] Luca, F., On Some Functions of Tabirca, Octogon Mathematical Magazine, 6, 61-63, 1998.
- [4] Rosen, K., Elementary Number Theory and its Application, Addison-Wesley, New York, 1993.
- [5] Tabirca S. and Tabirca T. Two New Functions in Number Theory and some Applications for Smarandache Function, Libertas Mathematica, 18, 78-85.1998.